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QUESTION 1

What is the outcome if a non-deferred module has a requirement on a deferred module?

A. The server-side combiner framework promotes the deferred module to be non-deferred.

B. The server-side combiner framework will ignore both the non-deferred and the deferred module.
C. The server-side combiner framework demotes the non-deferred module to be deferred.

D. The server-side combiner framework will ignore the dependency on the deferred module.

Correct Answer: A

QUESTION 2

Emery is trying to make it so users from a specific geographic location do not have access to a specific metrics
application hosted on their IBM WebSphere Portal server. Which of the following options is provided within WebSphere
Portal that Emery can use to this purpose?

A. Emery can use the call to ensure the portlet is hidden for thegeography to block.

B. Emery can use Personalization Rules to hide the portlet, leveraging information in the user repository regarding the
user\\'s geographiclocation.

C. Emery\\'s users must register as being from a specific geography and Emery can develop workflow methods
leveraging thePortalUserldentityBean (or PUIB) object to ensure the portlet does not generate markup for the user in
this geography.

D. None of the above. Emery is going to need to create a page and assign metadata parameters to hide the specific
portlet from users fromgeographies that are not allowed to see it.

Correct Answer: B

QUESTION 3

Which of the following options describes the rules created by selecting the Select Action rule type when creating a
personalization rule?

A. Select Action rules allow pages and portlets to be hidden based on conditions expressed in the rule.

B. Select Action rules return items of content from a resource collection based on conditions expressed in the rule.
C. Select Action rules return actions for a portlet based on conditions expressed in the rule.

D. Select Action rules send a personalized email to a set of users that is defined by another rule.

Correct Answer: B
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QUESTION 4

What is a processing advantage of public parameters over event operations?
A. No action phase required.

B. No limits to the payload data.

C. No need to distribute events to portlets.

D. Notifications are handled by the browser.

E. No action phase required and no need to distribute events to portlets.

Correct Answer: C

QUESTION 5

Ted is developing a module that will provide content to the Markup sub-contribution type. This Markup sub-contribution
will contain some inline JavaScript. What will happen if Ted makes this module deferred rather than non-deferred?

A. The script code inside the markup will not be evaluated and run when the deferred module is loaded.

B. The script code inside the markup will be evaluated and run. However, it will throw an exception since its being
loaded from a different domain.

C. The script code inside the markup will be evaluated and run without error when the deferred module is loaded.
D. The server-side combiner framework will not allow JavaScript inside of the Markup contribution type.

Correct Answer: A

QUESTION 6

Wendy\\'s theme was recently installed on a server. A colleague provided her with theme components to deploy, which
given design requirements, is packaged as an EAR file inside a compressed ZIP file. Which of the following is a valid
option for deploying these components?

A. Use the web-dav-deploy-zip-file to deploy the compressed file. Use the IBM WebSphere Integrated Solutions console
or scripts to deploy theEAR file. Use XMLAccess to import the components into the IBM WebSphere Portal server.

B. Use the web-dav-deploy-zip-file to deploy the compressed file. Use the webdav-expand-ear command to unpackage
the EAR on the server,then register the new EAR on the WebSphere Integrated Solutions console.

C. Use the web-dav-deploy-zip-file to deploy the compressed file and use the XMLAccess command to run the script.
Use the WebSpherelntegrated Solutions console to add the runtime configuration.

D. EAR files must be deployed using the WebSphere Integrated Solutions console, so she must remove it from the ZIP
archive and install itdirectly.

Correct Answer: A
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QUESTION 7

Which of the following statements regarding the Controller model is false?

A. A developer must commit the controller to persist the modifications.

B. A developer can only modify one resource per controller before committing the modifications.
C. The Controller model enhances the read-only portal model SPI by adding writable aspects.

D. The Content Model Controller allows a developer to modify the content topology and the properties of content nodes,
such as pages, labels,and content URLs.

Correct Answer: B

QUESTION 8
Which of the following statements is not a true statement about the Portlet Login service?
A. The login service can be used to trigger a form-based login to IBM WebSphere Portal from any portlet.

B. The login service can be used to retrieve a com.ibm.portal.um.User object representing the current user and
providing the current user\\'sprofile attributes.

C. The login service can be used to propagate information to the WebSphere Portal login, for example, in the
javax.security.auth.Subject objectpassed on to the JAAS login.

D. The login service can be used to change the default behavior in reaction to particular errors that might occur during
the login, such asredirecting the user to a change password page if the user\\'s password is expired.

Correct Answer: B

QUESTION 9

The following code sample uses the PUMA SPI within a standard portlet.

void processAction{ActionRequest request, ActionREesponse response) |
javar naming.Context ot = new javax.narming. InitialContex ),
FortletserviczHome psh = (FortletserviceHome)

ct lookup(" portletservice com.ibrm.portal.um . portletservice PumaHome"y;
FumaHome service = (FumaHome ) psh.getPortletservice(PumaHome class);
I

User user = p.getCurrentldser();

}

00—l oo fn P~ 0d b3 —

Sunil needs to retrieve attributes on the current user. Which one of the following lines of code, if inserted at line 6, will
provide the functions to retrieve attributes from the User object?

A. PumaProfile p = service.getProfile( (javax.portlet.ActionRequest) request);

B. PumaProfile p = service.getProfile( (javax.portlet.PortletRequest) request);
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C. PumacCaontroller p = service getController( (javax.portlet.ActionRequest) request);
D. PumacController p = service getController( (javax.portlet.PortletRequest) request);

Correct Answer: C

QUESTION 10

Given the following code in the portlet.xml file, what line of code returns the value of the "test" init- param. MyPortlet test
test_init_parameter

A. renderRequest.getinitParameter("test");

B. renderRequest.getPortalContext().getInitParameter("test");
C. portletConfig.getinitParameter("test");

D. renderResponse.getlnitParameter(“test");

Correct Answer: C

QUESTION 11

Bill is developing a user management application. He has access to custom JSP tags that use the PUMA SPI to perform
all the required logic. What type of application would be best for Bill to use?

A. Bill should develop an iWidget.

B. Bill should create a Servlet that will generate the desired markup.
C. Bill should develop a portlet.

D. Bill should deploy his JSPs into the theme using webDAV.

Correct Answer: C

QUESTION 12
What does the collaborative services API allow the portlet developer to do?

A. The API gives the user access to Microsoft Exchange and IBM Lotus Notes inboxes when developing custom
portlets.

B. The API allows the user to connect to social services such as Twitter and Facebook for custom portlets.
C. The API provides person tags to custom portlets.
D. The API provides the IBM Connections business cards capability to a custom portlet.

Correct Answer: C
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QUESTION 13

The portlet.xml file for SamplePortlet looks like this:

=portiet-
zport et-name=CertTargetPortlet=fportliet-name=
=zdisplay-name=CertTargetPortlet</display-name=
POt Et-class=com cISco. Certrnalportet.Cert | argetHortiet</parie-class=
<5Upports=
=mime-type=texthiml</mime-type:
=portiet-mode=view</potlet-mode>
<f5Upports=
<portet-info=
=title=CertTargetPortlet=/title =
<short ttle=CertTargetPortlet</short title=

<keywords=CertTargetPartet</keywords=
=/poriet-infos
<fportlet>

Inside the CertTargetPortiet java class the doview() metiod is implemented like this:

public void doview(RenderRequest request, RenderResponse response)throws PortletException, I0Exception|
ResourceBundle rs = gatPortletConfigl).gztResourceBuadlienew Lacale!"en"));
System out printinrs getString("javax. portet title));

}

Assuming that no modifications have been made to the properties bundle, what would be written into SystemOut.log?
A. java.util. MissingResourceException: Can\\'t find resource for bundle

B. java.lang.NullPointerException

C. Null

D. CertTargetPortlet

Correct Answer: D

QUESTION 14

Hershel wants to programmatically check if specific users have access to his company\\'s new portlet application, in
order to show a message in another portlet asking them to purchase a subscription. He is trying to do so with the least
amount of performance overhead. What would be the best way for Hershel to accomplish this?

A. He should use the com.ibm.portal.ac.RoleData interface to verify explicit role assignments.

B. He should use the com.ibm.portal.ac.UserRoles interface to verify explicit role assignments.

C. He should read role assignments using the com.ibm.portal.ac.RoleData interface and ensure portlet caching is
enabled.

D. He should use AccessControlRuntimeModel or AccessControlGlobalRuntimeModel to verify explicit role
assignments.
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Correct Answer: D

QUESTION 15

When creating and registering a custom portlet service, it is possible to set initialization parameters. What code would
Adrienne use to access a parameter with the name sample.portletservice.HelloServicelmpl2.message?

A. public void init(Preferences servicePreferences) { String message = servicePreferences.get("message"”, "Hello"); }

B. public void sayHello(RenderRequest request, RenderResponse response) { String message =
request.getAttribute("message”); }

C. public void init(Preferences servicePreferences) { String message = servicePreferences.getInitParam("message”,
"Hello"); }

D. public void sayHello(RenderRequest request, RenderResponse response) { String message =
request.getParameter("message”); }

Correct Answer: A
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